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AP Micro Units III & IV Review
Read each of the following questions carefully. There may be more than one possible answer.  Choose the best answer.

Identify the following market structures to answer questions 1-5 below:
1. We would expect industry entry and exit to be relatively easy in which of the four market structures:  

__________________________________________________________________________________

2.  We would expect a homogeneous (standardized) product in which of the four market structures:

__________________________________________________________________________________

3.  Suppose you find that the price of your product is less than minimum AVC. You should: 

A)
minimize your losses by producing where P = MC. 

B)
maximize your profits by producing where P = MC. 
C) close down because, by producing, your losses will exceed your total fixed costs. 
D) close down because total revenue exceeds total variable cost.

B) Increase revenue via nonprime competition

4. The demand curve in a purely competitive industry is ______, while the demand curve to a single firm in that industry is ______.
A) perfectly inelastic, perfectly elastic 


B) downsloping, perfectly elastic
C) downsloping, perfectly inelastic

D) perfectly elastic, downsloping
E) relatively inelastic, relatively inelastic

5. When a monopolistically competitive firm is in long-run equilibrium: 

A)
production takes place at minimum ATC. 

B)
marginal revenue equals marginal cost and price equals average total cost. 
C) there is normal profit and marginal revenue is perfectly elastic 
D) there is normal profit and price equals marginal cost.

E) they are productively efficient.

6. Game theory can be used to demonstrate that oligopolists: 

A)
rarely consider the potential reactions of rivals. 
B) experience economies of scale. 
C) extensively use advertising to increase demand
D) may be either homogeneous or differentiated.

E) can increase their profits through collusion.

7. The kinked-demand curve of an oligopolist is based on the assumption that: 

A)
competitors will follow a price cut but ignore a price increase. 
B) competitors will match both price cuts and price increases. 
C) competitors will ignore a price cut but follow a price increase. 

D) there is no product differentiation.

E) collusion will lead to a vertical gap in the marginal revenue curve

8. Product differentiation is a key characteristic of: 

A)
purely competitive markets only.

B)
monopolistically competitive markets only.
C) monopolistic markets only.
D) both monopolistically competitive and perfectly competitive markets.
E) All firms that make economic profit in the long run.

9. Pure monopolists may obtain economic profits in the long run because: 
A) of advertising. 


B) marginal revenue is constant as sales increase. 

C) of barriers to entry

D) of non-price competition

E) of diseconomies of scale
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11. Refer to this diagram for a natural monopolist. If the monopolist is unregulated, it will maximize profits by charging: 
A) at the socially optimal price 

B) a price above P3 and selling a quantity less than  Q3. 
C) price P3 and producing output  Q3. 
D) price P2 and producing output  Q2. 

E) price P1 and producing output  Q1.
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12.  Is this natural monopolist (to the left) breaking even, making a profit, or making a loss?  

__________________________

If a profit or a loss, how much?  _________________
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13.  For the monopolist to the right, consumer surplus is



a.  eck

b.  ebm


c.  cbmk


d.  ean


e.  banm
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14. Refer to the above diagram. To maximize profits or minimize losses this firm should produce: 

A) E units and charge price C. 

D) L units and charge price B.
B) E units and charge price A.
E) E units and charge price B
C) M units and charge price N.





15. Refer to the above diagram. In equilibrium the firm will realize: 

A) an economic profit of ABHJ. 

D) a loss of JH per unit.
 
B) an economic profit of ACGJ. 
E) a loss of BCGH
C) an economic profit of BCGH

Chart ALPHA    


Quantity
    Average
Average
Marginal
16.  Refer to chart ALPHA.  The average fixed cost 


of Output
Variable Cost
Total Cost
   Cost


of producing 4 units of output is:

      0

 -
     -
 -




      1
      50
   250
50


a.  35
              2
      45
   145
40


b.  40

      3
      41.7
   108.4
35


c.  50


      4
      40
   90
35


d.  90

      5
      40
   80
40


e.  200

      6
      40.8
   74.1
45


      7
      42.1
   70.7
50


      8
      44.3
   69.3
60


17. If a perfectly competitive industry is in long-run equilibrium, which of the following is most likely to be true?

(A) Some firms can be expected to leave the industry.

(B) Individual firms are not operating at the minimum points on their average total cost curves.

(C) Firms are earning a return on investment that is equal to their opportunity costs.

(D) Some factors are not receiving a return equal to their opportunity costs.

(E) Consumers can anticipate price increases.
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18. If the current price for the perfectly competitive firm represented in Figure 1 is $10.00, what would be the result of an increase in fixed cost on the firm’s profit maximizing price and quantity?

A.  Price increase and Quantity increase

B.  Price increase and Quantity decrease

C.  Price constant and Quantity constant
D.  Price decrease and Quantity decrease
E.  Price decrease and Quantity increase
AP Microeconomics Units 3 & 4 Review for 9 week exam
ANSWERS

1. Monopolistic Competition and Perfect Competition
2. Perfect Competition
3. C

4. B
5. B

6. E
7. A
8. B
9. C
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11. C
12. Profit of $20
13. A
14. B
15. A
16. C

17. C

18. C
Figure 1








